(3

H16. 4 95.53 96.66 (97.87) 9245 (94.19) 96.64 (96.44)
H16 .7 - - (95.90) = (90.63) b (95.98)
H16.10 - - (96.4 - (94.32) b (96.01)
H17.1 - - (953 - (95.26) - (96.69)
H16 - - (96.8 - (92.34) - (96.21)
H16 - - (96.4 - (93.57) - (96.27)
H16. 4 97.46 95.91 (99.02) 94.50 (95.91) 95.99 (97.26)
H16 .7 - = (93.78) z (86.76) ot (95.00)
H16.10 - - (948 - (91.56) - (96.20)
H17.1 - - (92.4 - (93.69) - (94.97)
H16 - - (95.7 - (90.32) - (96.10)
H16 - - (94.57) - (91.71) - (95.85)




1

H16.4 .6 67 (75) 0.12 (0.13) 49 (33) 0.07 (0.05) 24 (14) 0.36 (0.22) 3 ) 0.09 (0.04)
H16.7..9 = (93) = (0.15) = (63) = (0.09) b (8). b (0.12) z (2) = (0.09)
H16.10 12 = (113) (0.19) = (65) = (0.09) = (7). = (0.11) z (4) = (0.18)
Hi7.1 3 - (282) - (0.50) - (203) - (0.30) - (7) - (0.10) - (7) - (0.33)
H16 - (168) - (0.14) - (96) - (0.07) - (22) - (0.17) - (3) - (0.06)
H16 - (563) - (0.24) - (364) - (0.13) - (36) - (0.14) - (14) - (0.15)
H16.4 6 198 (224) 0.35 (0.38) 264 (199) 0.38 (0.29) 19 (16) 0.29 (0.25) 14 (4) 041 (0.17)
H16.7..9 = (224) = (0.36) = (280) = (0.38) b (24) = (0.35) z (5) = (0.21)
H16.10 12 = (203) = (0.34) = (303) = (0.43) b (22) b (0.34) z 9) = (0.40)
Hi7.1 3 - (306) - (0.54) - (310) - (0.46) - (13) - (0.19) - (3) - (0.14)
H16 - (448) - (0.37) - (479) - (0.34) - (40) - (0.30) - (9) - (0.19)
H16 - 957) - (0.40) - (1.092) - (0.39) - (75) - (0.28) - (21) - (0.23)
H16.4 .6 1595 ...(1152) 283 (1.95) 809 (580) 116 (0.84) 341 (263) 515 (4.15) 79 (70) 231 (3.01)
H16.7..9 = (1.959) = (3.18) = (1,030) b (1.42) b (446) b (6.53) = (15) = (3.20)
H16.10 12 = (1.317) = (2.23) = (957) = (1.37) b (263) b (4.01) = (66) = (2.96)
Hi7.1 3 - (2.029) - (3.59) - (1.234) - (1.81) - (213) - (3.18) - (51) - (2.38)
H16 - (3.111) - (2.58) - (1.610) - (1.13) - (709) - (5.39) - (145) - (3.10)
H16 - (6.457) - (2.73) - (3.801) - (1.36) - (1.185) - (4.48) - (262) - (2.90)
H16.4 6 664 (386) 118 (0.65) 1,199 663) 173 (0.96) 116 (75) 175 (1.18) 19 (8) 0.56 (0.34)
H16.7..9 = (920) = (1.49) = (1.609) b (2.21) b (162) b (2.37) = (12) = (0.51)
H16.10 12 = (488) = (0.83) = (1.138) b (1.63) b (80) b (1.22) z (10) = (0.45)
Hi7.1 3 - (490 - (0.87) - (1.388) - (2.04) - (85) - (1.27) - (10) - (0.47)
H16 - (1.306) - (1.08) - (2.272) - (1.60) - (237) - (1.80) - (20) - (0.43)
H16 - (2.284) - (0.97) - (4.798) - (1.71) - (402) - (1.52) - (40) - (0.44)
H16.4 6 2524 ...(1.837) 447 (3.11) 2.321.....(1LA75) 3.34 (2.13). 500 (368) 155 (5.81) 115 (83) 3.36 (3.56)
H16.7..9 = (3.196) = (5.19) = (2.982) b (4.10) b (640) b (9.37) = (94) = (4.02)
H16.10 12 - (2.121) = (3.59) = (2.463) b (3.53) b (372) b (5.68) = (89) = (3.99)
Hi7.1 3 - (3.107) - (5.49) - (3.135) - (4.61) - (318) - (4.74) - (71) - (3.31)
H16 - (5,033) - (4.17) - (4.457) - (3.14) - (1.008) - (7.66) - (177) - (3.79)
H16 - (10.261) - (4.34) - (10.055) - (3.59) - (1.698) - (6.43) - (337) - (3.73)
H16.4 6 2 (26) 0.07 (1.13) 1 (0) 0.06 (0.00) 2 (1) 0.10 (0.10) 148 (150) 0.10 (0.11)
H16.7..9 = (50) = (2.06) = (1) = (0.06) = (2). = (0.12) = (219) = (0.15)
H16.10 12 = (29) = (1.10) = (0) b (0.00) - (Q) = (0.00) = (218) = (0.15)
Hi7.1 3 - (3) - (0.10) - (14) - (0.82) - (0) - (0.00) - (516) - (0.37)
H16 - (76) - (1.61) - (1) - (0.04) - (3) - (0.11) - (369) - (0.13)
H16 - (108) - (1.05) - (15) - (0.24) - (3) - (0.04) - (1.103) - (0.19)
H16.4 6 5 (2) Q.17 (0.09) 6 (1 0.36 (0.10) 12 (8), 0.58 (0.76) 518 (454) 0.36 (0.32)
H16.7..9 = (13) = (0.54) z (3) = (0.18) b (13) b (0.79) = (562) = (0.38)
H16.10 12 = (8) = (0.19) = (4) = (0.23) - (6). = (0.29) = (552) = (0.38)
H17.1 3 - (2) - (0.07) - (4) - (0.24) - (6) - (0.29) - (644) - (0.46)
H16 - (15) - (0.32) - (4) - (0.15) - (21) - (0.78) - (1.016) - (0.35)
H16 - (22) - (0.21) - (12) - (0.19) - (33) - (0.48) - (2212) - (0.38)
H16.4 6 29 (18) 101 (0.78) 47 (7) 283 (0.68) 1 (5) 0.05 (0.48) 2901 ....(2,095) 2.04 (1.48)
H16.7..9 = (121) = (4.99) = (91) s (5:34) - (2). b (0.12) = (3.724) = (2.49)
H16.10 12 = (115) = (4.37) = (80) = (4.54) b (3). = (0.14) = (2.801) = (1.94)
Hi7.1 3 - (105) - (3.55) - (104) - (6.11) - (2) - (0.10) - (3.738) - (2.67)
H16 - (139) - (2.94) - (98) - (3.59) - (7) - (0.26) - (5.819) - (2.00)
H16 - (359) - (3.48) - (282) - (4.56) - (12) - (0.18) - (12.358) - (2.15)
H16.4 6 37 (11) 1.29 (0.48) 14 (2) 0.84 (0.20) 99 (29) 4.78 (2.76) 2148 . (1174) 151 (0.83)
H16.7..9 = (54) = (2.23) = (11) s (0.65) b (201) = (12.21) = (2.969) z (1.99)
H16.10 12 = (22) = (0.84) = (1) = (0.40) b (167) = (8.01) = (1.912) z (1.33)
Hi7.1 3 - (52) - (1.76) - (7) - (0.41) - (122) - (5.93) - (2.154) - (1.54)
H16 - (65) - (1.38) - (13) - (0.48) - (230) - (8.53) - (4.143) - (1.43)
H16 - (139) - (1.35) - (27) - (0.44) - (519) - (7.59) - (8.209) - (1.43)
H16.4 6 3 (57) 2.54 (2.48) 68 (10) 4.09 (0.98) 114 (43) 5.50 (4.09) 5.715......(3.873) 401 (2.74)
H16.7..9 = (238) = (9.82) = (106) s (6.22) b (218) = (13.24) z (1.474) = (5.00)
H16.10 12 = (171) = (6.49) = (91) = (5.16) b (176) b (8.44) = (5.483) = (3.80)
Hi7.1 3 - (162) - (5.48) - (129) - (7.58) - (130) - (6.31) - (7,052) - (5.03)
H16 - (295) - (6.25) - (116) - (4.25) - (261) - (9.68) - (11.347) - (3.90)
H16 - (628) - (6.09) - (336) - (5.43) - (567) - (8.29) - (23.882) - (4.15)




(3 (3

191 (242) 0.34 (0.41) 188 (321) 0.27 (0.46) 36 (32) 0.54 (0.50) 5 9) 0.14

- (338) = (0.54) - (682) - (0.93) - (162) - (2.30) - (15) -

H - (59) - (0.10) - (124) - (0.18) - (11) - (0.17) - (2) -
H - (398) - (0.68) - (526) - (0.76) - (11) - (0.16) - (21) -
1 - (580) - (0.48) - (1,003) - (0.70) - (194) - (1.44) - (24) -
- (1,037) - (0.43) - (1,653) - (0.59) - (216) - (0.81) - (47) -

25 (23) 0.04 (0.04) 31 (26) 0.04 (0.04) 4 (3) 0.06. (0.05) 6 9) 0.17

- (28) - (0.04) - (33) - (0.04) - (4) - (0.06) - (6) -

- (27) - (0.05) - (42) - (0.06) - (4) - (0.06) - (6) -

- (765) - (1.32) - (29) - (0.04) - (2) - (0.03) - (3) -

- (51 - (0.04) - (59) - (0.04) - (7) - (0.05) - (15) -

- (843) - (0.35) - (130) - (0.05) - (13) - (0.05) - (24) -

289 (284) 0.51 (0.48) 219 (277) 0.31 (0.40) 31 (52) 0.46. (0.81) 23 (19) 0.67

- (224) = (0.36) - (63) - (0.09) - (43) - (0.61) - (30) -

- (149) - (0.25) - (191) - 0.27) - (16) - (0.24) - (31) -

- (340) - (0.59) - (362) - (0.52) - (28) - (0.42) - (17) -

- (508) - (0.42) - (340) - (0.24) - (95) - (0.71) - (49) -

- (997) - (0.42) - (893) - (0.32) - (139) - (0.52) - (97) -

0 (2) 0.00 (0.00) 5 (2) 0.01 (0.00) 0 (0) 0.00 (0.00) 1 0) 0.03

- (14) = (0.02) - (23) - (0.03) - (0) - (0.00) - 0) -

- () = (0.00) - (8) - (0.01) - (0) - (0.00) - Q) -

- (19) - (0.03) - (9) - (0.01) - (0) - (0.00) - (1) -

1 - (16) - (0.01) - (25) - (0.02) - (0) - (0.00) - (0) -
- (35) - (0.01) - (42) - (0.01) - (0) - (0.00) - (1) -

505 (551) 0.89 (0.92) 443 (626) 0.63 (0.90) 71 (87) 1.06 (1.35) 35 (37) 101

- (604) = (0.97) - (801) - (1.09) - (209) - (2.97) - (51) -

H - 235) - (0.4Q) - (365) - (0.52) - (31) - (0.47) - (39) -
H - (1,522) - (2.62) - (926) - (1.34) - (41) - (0.61) - (42) -
1 - (1,155) - (0.95) - (1,427) - (1.00) - (296) - (2.20) - (88) -
- (2,912) - (1.22) - (2,718) - (0.96) - (368) - (1.37) - (169) -

6 (22) 0.21 (0.94) 1 (1) 0.06 (0.10) 4 (32) 0.19 (2.94) 431 (659) 0.30

- (20) - (0.81) - (Q) - (0.00) - (16) - (0.93) - (1,233) -

H - () - (0.00) - () - (0.00) - (0) - (0.00) - (196) -
H - (2) - (0.07) - (13) - (0.74) - (2) - (0.10) - (973) -
1 - (42) - (0.88) - (1) - (0.04) - (48) - (1.71) - (1,892) -
- (44) - (0.42) - (14) - (0.22) - (50) - (0.71) - (3,061) -

12 (8) 0.42 (0.34) 1 (1) 0.06 (0.10) 29 (4) 137 (0.37) 108 (74) .08

- (16) = (0.65) - (Q) - (0.00) - (34) - (1.98) - (121) -

- (6) = (0.23) - (8) - (0.45) - (41) - (1.92) - (134) -

- (6) - (0.20) - (5) - (0.28) - (7) - (0.34) - (817) -

- (24) - (0.50) - (1) - (0.04) - (38) - (1.35) - (195) -

- (36) - (0.35) - (14) - (0.22) - (86) - (1.23) - (1,146) -

0 (4) 0.00 (0.17) 5 (1) 0.30 (0.10) 8 (1) 0.38 (0.09) 575 (638) 40

- () - (0.00) - () - (0.00) - (2) - (0.12) - (362) -

- (3) = (0.11) - (10) - (0.56) - (6) - (0.28) - (406) -

- (0) - (0.00) - (41) - (2.33) - (4) - (0.19) - (792) -

- (4) - (0.08) - (1) - (0.04) - (3) - (0.11) - (1,000) -

- (7) - (0.07) - (52) - (0.83) - (13) - (0.19) - (2,198) -

0 () 0.00 (0.00) 1 (6) 0.06 (0.58) 9 (0) 0.00 (0.00) 7 (10) .00

- () - (0.00) - (Q) - (0.00) - (22) - (1.28) - (59) -

- () = (0.00) - (Q) - (0.00) - (0) - (0.00) - (8) -

- (0) - (0.00) - (0) - (0.00) - (0) - (0.00) - (29) -

1 - (0) - (0.00) - (6) - (0.22) - (22) - (0.78) - (69) -
- (0) - (0.00) - (6) - (0.10) - (22) - (0.31) - 106) -

18 (34) 0.62 (1.46) 8 (9) 0.48 (0.87) 41 (37) 1.94 (3.40) 1121 (1,381) NE)

- (36) = (1.46) - () - (0.00) - (74) - (4.30) - (1.775) -

H - (9) - (0.34) - (18) - (1.01) - (47) - (2.20) - 744) -
H - (8) - (0.27) - (59) - (3.35) - (13) - (0.63) - (2,611) -
16 - (70) - (1.46) - (9) - (0.33) - (111) - (3.95) - (3,156) -
- (87) - (0.84) - (86) - (1.37) - (171) - (2.44) - (6,511) -




